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POLITICAL SCIENCE
( General )

( Political Theory—II )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
@ers frarared ot PR e i -

fa) Who is the father of Scientific Socialism?
R SRR T S (FH ?

(b) is the author of the book,

On Liberty.

( Fill in the blank )
On Liberty aggd forge ____1
( A 3% R 1)
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(2)

(c) Who used the term ‘ideology’
\ . for the fi
time in 17967 ot

(i) Antoine Destutt de Tracy
(i) Karl Marx
(iti) Aristotle

( Choose the correct answer )
2% BIS (AU FA SR =gy
7T IR 2
() 5% covoy s G
(i) vef sl
(i) R’ |
( o= Taweor i Sfere )

(d) “Democracy is the government in which
everyone has a share.” Who iti
A se definition

(i) Barkar
(i) John Seely
(iti) Dicey
) ( Choose the correct answer )
T RR CRETE W @ g
599H 17’ ©& @B IR 2
) IFR
(i) &R
(iii) S35
( 0% Taeht 1 Bfovey )
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(3)

(e) Development is closely. related to

technology.
( Write True or False )
Rr! SRR 9IS GRSl TS |

(371 1 TS} o)

() Mention the name of one book written
by Gandhiji.

& Bl A e wi Beas 30

(g) Write the full form of UNDP.

UNDP-3 =jf Fiwfco1 forn 1

2. Write very short answers (any foun : 2x4=8

oS 5 ex fra (R e oiRko) :

(a) Write two drawbacks of liberalism.
SRR o1 ¢ fo
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(4) ’ 5 (5)

3. Write short notes on any three of the

(b) Write the names of two elitist thinkers. following : 5x3=15

o e foafea = for wTe AIIRE R e ffb 8o oY (B o -

(a) Classical liberalism
. ” oMt SHRORm

(c) Write two conditions for the success of

democracy. '

SIS HIFAR o1 56 o | (b) Indirect democracy

ARTF ATSF

(d) Mention two theories of Marx.

T 7B1 ©F Teard 310 |

(c) Sustainable developmcnt

Y Repd

: (d) Human Devel t Index (HDI
(e) Give two arguments in favour of elopment Index (HDI)

Gandhism, - TR R pice
MR T 751 IR iy |
fe) Pluralism
REXE I

() Name two thinkers connected with the
debate on the End of Ideology.

WWWME‘Q )
e wm fora | e e
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() Non-violence

fALl LiER|




(6] .. : (7)

4. Answer the following questions : () What do you mean by Swaraj? Describe

wore fm 2R beq fa the Gandhian concept of Swaraj.  2+8=10
T e & oqee NG W& T

(a) Write a note on the modern concept of

liberalism. . 10 _ IRACHT SCoTo1 391 |
Y SIIORTR oS @ Gt fora | Or/SRI
or/ Discuss Marxism as an ideology. 10
S RROIY TR Al 91|
Discuss the basic features of the Marxist
theory of democracy. 10 * % %
T ArefEF TE AR A P ERER
HCAD 91 |
(b) Whatis development? Explain Gandhian
model of development. 2+8=10
Rem & 7 TRER SR ST vy w11 |
Or/S%[_1
Analyze the pluralist theory of
democracy. 10
ATSFI TG ©gChl Rewd w41
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